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2  Rate = K [NH4 NO2] is an example of
(a) Zero order reaction(b) First order reaction

(d)
3TTcifIcT

cm(a)
(b)
(c)

H2O

H2O (ice) is an example of
(a)Polar molecular Solid
(b)Hydrogen bonded molecular solid

(c)Ionic Solid
(d)None of these.

(Multiple Choice Type Questions)

(vi) Question Nos. 32 to 34 are long short Answer type which corry 5 marks eac
:^^52TT  32 ^ 34 cfc|5 ^f^f  T^^T^l^T

(v)  Question Nos. 24 to 31 are short Answer type - II which corry 3 marks eacl

^r^^" 3 3Tcf5 % i

|- I16 ^ 23 cTcJ5

each.

(iv) Question Nos. 16 to 23 are very short Answer type - I which corry 2 m

(ii)  Question Nos. 1 to 8 are Multiple choice type which corry 1 mark each.

1  3Tc?5 % |

(iii) Question Nos. 9 to 15 are very short Answer type which corry 1 mark each.

(i)  All questions are Compulsory
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^ A'A'%

Zn-Hg/Hcl+ 4 [H]

(b) Ethane
(d)None of these

(a) Methane
(c) Propane

'A' is

(b)
(d) ^dc

Zn-Hg/Hcl

(b) Phenol
(d)None of these

700 K

A

(b) Al
(d)Cu

(b) Al mi
(d) Cu mi

700 K

(b)

'A'%

(a) 
(C) GlouH=pCi

6  Acetaldehy de + 4 [H]

H2O

(8TTCT)

(c) Benzyl alcohol

+ H2O

(Steam)

(a) Fe
(c) Zn mi

Chlorobenzene

'A' is

(a) Benzene

Bauxite is an ore of

(a) Fe
(c) Zn

(c) R

Hcl
C2H5

so

Alcl3
(o)+C2H5cl

Anhyd. Alcl3
OJ +C2H5cl? (o)    Hcl

The reaction is
(a) Finkelstein reaction(b) Friedel Craft's reaction
(c) Fittig reaction(d) None of these.

(d)
C2H5

S
O

c?5T

(d)None of these.(c) Second order reaction

= K [NH4 NO2] Tim
(a)



15 Give an example of tranquilizer.

1 3  Write IUPAC Name of CH3 CH (CH3) CH(Br) CH3
CH3 CH (CH3) CH (Br) CH3

1 A Give an example of aldotetrose.

1 2  Write the monomer used for getting the polymer, Polystyrene.
r   cf^t   ^H-d  cmz^ ~^^^ fcTTJ  y^yoa

cT^TTcI5T

1 1  Write dispersed phase and dispersion medium of milk, a colloidal solution.

' [B]
1 0  Rickets occurs due to deficiency of which vitamin?

-l

9  Calculate the overall order of a reaction which has rate expression

Rate = K[A]3/2 [B]'1

(a)C2H6
(c) CH3COOH

(Very Short Answer Type Questions)

(b) CH4

(b) CH4
(d) None of these

ProductHeat
the product is

(a) C2 H6
(c) CH3COOH

CH3 COONa   NaOH cren Cao

CH3 COONa   NaOH and Cao8

(b)
(d)

(a)
(c)^t^rar(d)

7  Which enzyme helps in coverting maltose into glucose ?
(a) Urease"(b) Maltase
(c) Lactase(d) None of these



+1+1=3

/2+l'/2=3

/2+l!/2=3

1+1=2

1+1=2

1+1=2

2 7  How will you bring about the following transformations ?
(a) Ethanolto    Ethanal

2 6  Explain the following terms :

(a) Dialysis(b) Tyndal effect

2 5  Explain order of reaction.

2 A Distinguish between Schottky defect and Frenkel defect.
cT^TT  ^bcbel

(Short Answer II Type Questions)

c}5T

2 3  What is tincture of Iodine? What is its use?
^ 2 ^;

2 2  How Can You distinguish between addition and Condensation Polymerisatk n?
3TTCT

2 1  What are the expected Products of hydrolysis of Lactose?

cbt

(a)CH3Br + KCN (ale)
(b)C2H5Br + AgN02

19 Write docon the electronic Configuration of (a) Mn2+ and (b) Cr3+
(a) Mn2+and (b) Cr3+ ^>

20 Complete the following :

(a) CH3Br + KCN (ale)
(b)C2H5Br + AgNO2

1 8  Give the disproportionation reaction of H3PO3.

H3PO3

1 7 What is role of Cryolite in the metallurgy of aluminium?

1 6  Distingiush between Oxidation Potential and reduction Potential.

(Short Answer I Type Questions)



1+1+1=3

I^1+1=3

H9O
(c)  (C6H5CO)2O

FecL
C1

Cl

(b) (O)

+3Br2

OH

O

(c)  (C6H5CO)2O

Anhydrous Fecl
C1

Cl
(b)  fo

+3Br2(a)
OH

3 0  Predict the Product:

2 9  What is Kohlrauschis law ?

2 8  Using IUPAL norms write the formulas for the following

(a)diammine dichlorido platinum (II)
(b)Penta ammine nitrito-o-cobalt (III)
(c)Potassium tetra cyano nickelate (II)

IUPALf^rar^ff c srrsrr? t? r^id^if^iR^ci c fen?

(a)si^uc^*^^cr  si^cn^Tir^sl -circ<^icH  (II)

(b)^l^il ^cK*f|ci cHl^I^dl -0- cblcjlc^ (III)

(c)'^h:^^|-RTaT ^^r  :^TRT^ft   I^1c^)clci (II)

(c)
3T^eT

Acetyl Chloride
Toluene

2

to
to

(b)Acetic acid
(c)Benzene



2+3=5

the

If1+1=3

rfcl^i^CTi        Cf

/ mol L"1 min"

x 10"2

x 10"1 ,

lO"2

10'j

2.40

2.88

7.2 x

6.0 x

D
yRfi

0.1

0.4

0.2

0.1

[B]/mol L'1

0.4

0.3

0.3

0.1

[A]/mol L"1

IV
III
II
I

Determine the ratelaw and rate Constant for the reaction
2A+B ?  C + D

f

2.40 x 10-2

2.88 x 10"1

7.2 x 10-2

6.0 x 10"3

Initial rate of formation <
D/mol L"1 min'1

0.1

0.4

0.2

0.1

[B]/mol L'1

0.4

0.3

0.3

0.1

[A]/mol L'1

IV
III
II
I

Experiment

OR / 3rejcTT
The following results have been obtained during the kinetic Studies of
reaction :

2A + B?C + D

A Sample of drinking water was found to be severely Contaminated vith
Chloroform (CHcl3) Supposed to be a Carcinogen. The level of Contamin4ion

was 15 ppm (by mass):
(i) express this in percent by mass
(ii) determine the molality of chloroform in the water Sample.

cjt  xifldii c\cf5   ci^cl  3TfTcf5  tiHC^^icI ^ I ^Hi    -

ppm (siodJdHlul ^") % —

0)

(Long Answer Type Questions)

NaF
H20
H20NaOH+

(a) XeF6
(b)XeF6
(c)P4  +

Complete the following reactions :

(a)XeF6+ NaF
(b)XeF6+ H2O
(c) P4 + NaOH +    H2O

32

3 1



2+2+1=5

72+172

+2=5

iH-1+1+1

+1=5

3+2=5

^
Cl2/Heat

'? I
KOH (aq)

'Z'

^X'

yv'Y'

SOC12

Anhyd. A1C13
CH3 Cl

Cl2(boil)

^OOH

©
(o)

CH3

(c)<

(b)

i

(a)

Identify 'X' , ' Y' and 'Z' in the following :

(a)
(b)
(c)

(v) HNO3
3 A Write short notes on the following :

(a) Aldol  Condensation
(b)Wurtz  reaction
(c) Stephen reaction

^^ffXT^ ^^rf^f^cT fdM-|uf|

Terr

Mg
OR/ 3Tercrr

How does white Phosphorus reacts with (i) H2SO4   (ii) Sulphur (iii)

(iv)Naand (v) HNO3
(i) H2SO4  (ii) ^Hc^^^i    (iii) Mg (iv) Na

HNO3 (i) C ctstt    (ii) I2

c   fcTCJ

3 3  Give the Principle involved in monufacture of nitric acid by Ostwald proc^ss

How does Concentrated HNO3 reacts with

(i) C and  (ii) I2 ?
3-TlTi-Ccilcs fcrfET   ^ eni^^^c^ 3TaRcT



(c)(^OOHSOC12

Anhyd. A1C1:
CH3CI

Cl2(boil)KOH(aq)
^y\.?

(b)

(a)

at ^r 'X', 'Y' ctsit 'Z'


